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Instruction : All questions are compulsory. 
     
 
1. (A) ÍÛ×–ÛÌÛÙ …é¤øÅÛé ÉÛä× ? …Û¸Û¨ÛÛ ÍÛ¾ÛÛ›÷¶ÛÛ ÍÛÛ¾ÛÛ¶ýÛ ÍÛ×–ÛÌÛÛë ÈÛ¨ÛÙÈÛÛé. 14 
  What is conflict ? Describe the common conflicts of our society. 
    …¬ÛÈÛÛ/OR 
 (B) þù¼ÛÛ¨Û …é¤øÅÛé ÉÛä× ? …Û¸Û¨ÛÛ ÍÛ¾ÛÛ›÷¶ÛÛ ÍÛÛ¾ÛÛ¶ýÛ þù¼ÛÛ¨ÛÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 
  What is pressure ? Give an explanation about the common pressures of our 

society.   

2.  (A) ¾Û¶ÛÛé½ÛÛÁõ¶Ûà Š©ïõ¤ø©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ¸ÛÜÁõ¼ÛÇ ©ÛÁõàïéõ ÍÛ¾ÛÛýÛÛé›÷¶Û ¸ÛóéÁõïõ ¸ÛÜÁõÜÍ¬ÛÜ©Û¶Ûà 
ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ˜Û˜ÛÛë. 14 

  Discuss the characteristics of the adjustive demand as a factor affecting the 
severity of stress. 

…¬ÛÈÛÛ/OR 
 (B) ¾Û¶ÛÛé½ÛÛÁõ¶Ûà Š©ïõ¤ø©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ¸ÛÜÁõ¼ÛÇ ©ÛÁõàïéõ ÈýÛÜî©Û¶Ûà ”ÛÛÜÍÛýÛ©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
  Discuss the characteristics of the individual as a factor affecting the severity of 

stress. 

3.  (A) ›Û©ÛàýÛ ½ÛæÜ¾ÛïõÛ …¶Ûé ÅÛ•¶Û ¸ÛæÈÛë¶ÛÛ ÍÛ×¼Û×µÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 
  Discuss sex roles and relationships before marriage. 
    …¬ÛÈÛÛ/OR 
 (B) œ÷ÈÛ¶Û ÍÛÛ¬Ûà¶Ûà ¸ÛÍÛ×þù•Ûà¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ¸ÛÜÁõ¼ÛÇÛé ÈÛ¨ÛÙÈÛÛé. 
  Describe the factors affecting mate selection. 

4.  (A) ÜÈÛÜÈÛµÛ ÅÛ•¶ÛÉÛíéÅÛà…Ûé …¶Ûé …Û×©ÛÁõÍÛ×¼Û×µÛÛé¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 14 
  Describe the various marital styles and interactions. 
    …¬ÛÈÛÛ/OR 
 (B) ÅÛ•¶Û¶ÛÛ ÍÛÛÁõÛ …¶ÛäïæõÅÛ¶Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ÅÛ•¶Û ¸ÛæÈÛë¶ÛÛ× ¸ÛÊ˜ÛÛ©ÛÕ ¸ÛÜÁõ¼ÛÇÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
  Discuss the premarital background factors affecting good marital adjustment. 
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5. (A) ›Ûé¦øïõÛ× ›Ûé¦øÛé : 7 
  Match the following : 

 ÜÈÛ½ÛÛ•Û I 
Section I 

 ÜÈÛ½ÛÛ•Û II 
Section II 

(a) …ÛÈÛé•ÛÛ©¾Ûïõ ¸ÛÜÁõ¸ÛîÈÛ©ÛÛ 
Emotional maturity 

(i) ¸ÛÜÁõÜÍ¬ÛÜ©Û›÷¶ýÛ …ÈÛÁõÛéµÛ 
Environmental Obstacle 

(b) Š¸ÛÛ•Û¾Û¶Û-¸ÛÜÁõÐüÁõ¨Û ÍÛ×–ÛÌÛÙ 
Approach-avoidance conflict 

(ii) ÍÛÛµÛ¶ÛÛé¶ÛÛé …½ÛÛÈÛ 
Lack of resources 

(c) Ðü©ÛÛÉÛÛ¶Ûä× …éïõ ïõÛÁõ¨Û 
One reason for frustration 

(iii) ÜÈÛµÛÛýÛïõ …¶Ûé Ü¶ÛÌÛéµÛïõ ¸ÛÛÍÛÛ×…Ûé 
Positive and negative aspects 

(d) ÅÛ•¶Û¶Ûà ÍÛºõÇ©ÛÛ¶Ûé ¾ÛæÅÛÈÛÈÛÛ¶ÛÛ 
µÛÛéÁõ¨ÛÛé 
Standards for assessing marital 
success 

(iv) ›Û©ÛàýÛ ÈÛèÜ«Û¶ÛÛé ÍÛ×©ÛÛéÌÛ 
Sexual satisfaction 

(e) ÈÛíéýÛÜî©Ûïõ ¾ÛýÛÛÙþùÛ 
Personal limitation 

(v) ÅÛ•¶Û¶ÛÛ ÍÛÛÁõÛ …¶ÛäïæõÅÛ¶Û¶Ûé …ÍÛÁõ 
ïõÁõ©Ûä× –Û¤øïõ 
A factor affecting good marital 
adjustment  

(f) ÅÛ•¶Û ïõÁõÈÛÛ¶Ûä× …éïõ ïõÛÁõ¨Û 
One reason for marriage 

(vi) ¼ÛþùÅÛÛ©ÛÛ ÁõÐéü ™öé. 
Keep changing 

(g) þäù:”Ûà ïõÁõ©ÛÛ ÍÛä”Ûà ÅÛ•¶Ûœ÷ÈÛ¶Û¾ÛÛ× ©Ûé 
ÈÛµÛä ›ÛéÈÛÛ ¾ÛÇé ™öé. 
It is found more in happy rather 
than unhappy marriages 

(vii) …ÉÛÛÜ¼þùïõ ÜÈÛ˜ÛÛÁõ ÜÈÛÜ¶Û¾ÛýÛ¶ÛÛé 
Š¸ÛýÛÛé•Û 
Use of non-verbal 
communication 

 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé : 7 
  Indicate whether the following statements are true or false :  
  (1) …¬ÛÙ¸Ûæ¨ÛÙ©ÛÛ …éïõ ¸ÛóïõÛÁõ¶Ûà Ðü©ÛÛÉÛÛ ™öé. 
   Meaningfulness is a type of frustration. 
  (2) ¾Û¶ÛÛé½ÛÛÁõ¶Ûà ½ÛÛ©ÛÛé ÜÈÛÜÉÛÌ¤ø ÐüÛéýÛ ™öé. 
   Stress patterns are unique. 
  (3) …Û¸Û¨Ûé ïéõ¤øÅÛÛ×ïõ ÍÛ×–ÛÌÛÛë ÜÈÛÉÛé …ßÛÛ©Û ÐüÛéˆ…é ™öà…é. 
   Some of our conflicts are unconscious. 
  (4) ¾Û¶ÛÛé½ÛÛÁõ¶Ûà ©ÛàÈÛó©ÛÛ ÈÛµÛ©ÛÛ, ÈýÛÜî©Û ÈÛµÛä ›÷¦ø ¼Û¶Ûé ™öé. 
   A person becomes more rigid with an increase in the severity of stress. 
  (5) …¸ÛÁõÜ¨Û©Û ÍªÛà …¸ÛÁõÜ¨Û©Û ¸ÛäÂúÌÛ ïõÁõ©ÛÛ ÈÛµÛä ÍÛ¾ÛÛýÛÛéÜ›÷©Û ÐüÛéýÛ ™öé. 
   An unmarried woman is better adjusted than an unmarried man. 
  (6) ÅÛ•¶Ûœ÷ÈÛ¶Û¶Ûà ÍÛºõÇ©ÛÛ¶Ûà …Û•ÛÛÐüà ïõÁõÈÛà ¾ÛäÉïéõÅÛ ™öé. 
   It is difficult to predict marital success. 
  (7) ÍÛä”Ûà …¶Ûé þäù:”Ûà ÅÛ•¶Ûœ÷ÈÛ¶Û¾ÛÛ× ÍÛ¾ÛÛýÛÛé›÷¶Û¶Ûà ½ÛÛ©ÛÛé Ü½Û·Û ÐüÛéýÛ ™öé. 
   Differing coping patterns exist in happy and unhappy marriages. 

______________ 


